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/% st st i s ofe o ok ol o s o ok e o ok ok ok o ok B ok 8 e ok e sk e e s i o ok o e e ok ke ok ok ok sk ke sk R s e ok e o ok ke /
/% */
/% */
/% .bp.c. */
/ % programmed by 1.TAGUTI */
% ek e sk ot s ot e kol ok e s oK e o ke e sk Sk 3 ok o e o ke s oo o o s ok e s e ok ok ok s ok e ok o e ke ok ok ok ok /

#include <string.h>
#include <math.h>
zinclude <stdio.h>
#include <process.h>

#define YES 1
#*define NO ' 0
#define EXIT O
#define AGAIN 1

int junbi(int mode);

void omomi( int sou )
void neu_cal( int sou,
void execute( int sou,
void data_set( int i,
veid bprun( int sou );
void out_cal( int sou,
void add_ew( int sou,

void w_renew( int sou );
float ran( void );
void wi_write( int
int chknum( int nu
int hitynd¢ void );
int mode_sel ( void

sotl )

)

int larn );
int mm );
int sou );

int mm );
int patern );

int np »);

FILE #openfile( char *mode, int sw );

7% e ot s ok e o o ke st e o e st e st st ol ol sk e ok s e o ke sk o ok e g e e s ke sk o ok e sk oo o sk s ke ol ok sk e ol ok ke /
/*x */
/% */
/% k(k>30) */
/% mode(m+2].4[k].x[m+2][k]. x*/
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Z% wim-11(nl{nl.dwim-11fnlinl.ewim-13{nl{n]. */
/% tohenkousuru. */
/ % *®/

/e i ok s siesie ek Sk sk sk s e 8l 3 S S 3 K ke 3 5K ok 3 sk i 3K o sk s sfe el o 3k afe e e i e o o s s e e 3K 38 35 g ¢ o oK 3R 35 i 6 o 3K o e ek O Sk e ek R ok /
int icount, nodel31;

float eta, alphar, dl4], ind(8], oud{4], errl[21];

float x[31043, wl41[21(2], dw[33[21(2], ewl41[21(2];

/% sk ik sk sfe ol ok ok ok o ke e ok i ok sk ok sfe s 3 5 ok ok sk ok ok 3k 3k 3% ok ok S5 a3 ¢ 3k 3¢ 3k Sk sk e ok ok ok 3T o ofe ok ofe e ok el Sk RO SROROR % 3k [/
/5w AAUN-F s/
43 sl ofeok sieofe ki sk e ofe i i ol Sfe ofe s ke afe ke 33 3¢ sfe 3K st i ok 3k 3k 3k ok 3K o3 sk ok 3K 3k ¢ ok 3% 3% 3k sk i o ok sk ok s oK sk R R OR SRR Rk ke /
void main(void)

{
FILE %fi, *fo;
int larn, sou, i, j, mode;
float dat;
while( 1 ) (
mode=mode_sel (); /%*gakushu. jikou.shuryounosentaku */
if ( mode==3 ) break;
printf("¥x1bx" ); /% FEIMVNASIDUFP x/
sou = junbi( mode ); /% Z2=-9hXYbIS3CYFA %/
if ¢ mode == 1 )

printf( "¥nh™I32957%-% | VPAAXLDZ2IIDITFOINYA " )
if ( mode == 2 )
printf( "¥nF -%.T7PANRA4IZ2DIIDITIIN4 L 0 Yy
f% N H¥-LI3IaL %/
fi = openfile( "rt", AGAIN );
fscanf( fi, "%d", &icount ); /% N F-2AH/3TIT %/
for ( 1 = 0; i < icount; i++ ) {
for ( §j = 0; j < nodel[0]; j++) {
fscanf( fi, "%f", &dat );
indlnodef0I*xi+j] = dat;
}

Y
¥

fclose( fi )
if ( mode != 2 ) (
printf{ "¥3WLF7 =9 . TPANAATZ2HN3DLF05 014 "y
VEE 3- 1o ot k- i - 4
fo = openfile( "rt", AGAIN );
for (1 = 0; 1 < icount; i++ ) ¢
for ( j = 0; j < nodelsou-13; j++ ) {
fscanf( fo, "%f'", &dat );
oudinodelsou-1J*i+j] = dat;
3
}
fclose( fo ) ;
printf( "B IS2I9NAZIT avy T L /ey FA4IXATVFIINNL 2 v )
scanf( "%d", &larn );
}
omomi ¢ sou )
if ( mode ==
if ( mode ==
3

1 ) neu_cal( sou, larn ); VE I /A% 1o BT V4
2 ) execute( sou,2 ); FE A aly) s/

¥
/3 sk ks ke e sk s s sk i K 3 sk sie o e 3k 3K 3k s ke e o o ot st ade ol ok ok sk sk okl 3R Sl R R ROK R SK R R RO R ok /
/% Z2=-ILRvbk/YabyF4A */
/s sk i sk kO K sk ok 3 sk ok okl e ke ok sk il sk skl i ol RO ROl T R K K Rk sk ksl sk sk OR ROKOR k% /
int junbi( int mode )
{

int n, i, j, sou;

Printf ( "¥nskkk XYPIT-IN° IA-F-)PYFTA skk¥n" )

printf ¢ "hAILYD/BZT (max:5) " ) /x PILYDIIAR 22930 x/
scanf( "%d", &sou )}

sSou = sou + 2;

printf( "zZz%H)a’vyh/azyb IR 2 " ) /x hDOVYB/)PERD/)Z29Y30 %/
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scanf( "%d", &nodel[0] );
if ( sou != 2 ) {
if ( sou > 7 ) sou = 7;
for ( i = 13 i < sou ~1; i++ ) {
printf{ "HILYS %d UHIAJ2Z2wbvJHZ> 0 ", i )
scanf( "%d", &nodelil );
}
}
printf( "2 29N3PVUD )2y IHZT " )
scanf( "%d", &nodelsou-11 );
if { mode == 1) {
printf( "FEIOVSLHM42n 1 v ) /o FEZIVSLYAAIn/Z2vNs0 %/
scanf( "%f", &eta );

printf( "FEIOVILTMAVa

A /% FERIVSLYAADa /28 d %/
scanf( “"%f", &alphar );

for (. n = 0; n < sou -1; n++ ) {
for (i = 1; 1 <= nodeln+1]; i++ ) |
for ( j = 0; j <= nodelnl; j++ ) (
dwlnl[il(j] = (float)0.0;
}

return( sou );

}
/s st skestesfeade ofe 3k s s o s ke ok 3 ok o s e e ke 3k ok ok 3k ke e 3k sk sfesfe sk 3k ok s s ook s o o sk sfe ook lok seokokok ok /
/% FEXV3FNAJLTITIX x/
/s stestestesk sfe i i ok st ok afe ke sk 3k ok ok sk afe ke e ok sk ok sk s e ke o sk sk ke o 3R ok sk st sfe ke e sk sk ookl sk sk e ook e/
void omomi{( int sou )
{

FILE %wfi;

char dumy([20];

int 1, j, n;

printf( "FUTI/FEITT-IIVNAIAN? (y/n) " )
if (hityn() == YES ) {
printf( "FEITPAUXL : " ) /% ZEZDPpANRA/Z2%930 %/
wfi = openfile( "rt", AGAIN );
for ( n= 0 ; n < sou=-1 ; n++ ) {
fscanf( wfi, "%s", dumy );
for ( i = 1 i <= nodefn+l1] ; i++ ){
for ( j O : i <= nodelnl ; j++ ) {
fscanf( wfi, "%f", &winl(illj] );/* FEIF* ~-9/333% x/

N owe

}
}
fclose( wii )

} else {
for ( n = 0 ;3 n < sou~-1 ; n++ ) {

for (i = 1 ;3 i <= nadeln+1] ; i++ ) {
for ¢ j = 0 j X nodelnl] ; j++ ) {

winJ[il[jl = 2. % ( ran() - 0.5 ); /% FEIF -9/ 3%h %/
}

}
}
}
}
/3 skesiook sk sfe sk ok ok ok sfe e e st s sk sk sk 3K sk s e sk sk ke 3k sk s 3k ok e sk s ke 3k ok s sk ok e o ok ik ok sie s ok s ek SR sfORIOROR Rk sk ok e/
VAT N/ % 1y */
/3K st 3 st ok afe sk o o o >k ok o e e s sfe ke ok e e sk Sk ke e sk sfe s s ke sk ofe e s st sfe sk S ok ok o 336 3K ok 3¢ ofe 3 e ok ok 3K ok ek R oK R RO K s/
void neu_cal( int sou, int larn )
{
FILE xfe;
int yn, wmode, i, j, kai, inext;
float averr, outerrl[201];



NwoZdONT—r3ay., Za—3)bry hT—JCHBIFDFEBRICDONVT

kai = 13
wmode = w_ren_mode(); /A AEIL2D9CARI /LYY %/
printf( "¥nio-I3774N-2299303%Z3h? (y/n) " )
if ( ¢ yn = hityn{) ) == YES ) ¢
printf{ "ia2W)azri-JrAlXAI227930LF705 04 " ),
fe = openfile( "wt", AGAIN );
}
printf( "¥x1bx" ); /% FEIWNISALIDNT =/
printf(C "¥n" )

while( 1
inext
averr
for ¢
outerr(i]

far
data_set( s
bprun{ sou );
for ( j = 0; j < nodelsou-11; j++ )

o -
O~

0at)0.0;
i < nodelsou-1]1; i++ ) /% 2821 9-/33%h w/
30.0;
i < icount; i++ ) {
/% Fr-858vt %/

)
1
(flo
i

O H = H ~ D

[~
o S e

[T 1 ]
n

-e

outerr(jl] += errl(jl;
if ( wmode == 2 ) w_renew( sou ); /¥ AERIJAMYL (VAL Y29R4) %/
if ( wmode == 1 ) add_ew( sou, i ); /% FEIF -3/ TV277 %/
}
if ( wmode == 1 ) w_renew( sou ); VA B & 5-¥4s DVVINE B Vb Ar ) & DI
printf( "¥x1b[1l;1H" ); /% N=UNAFIAr™ %/

printf( "N 2329N4Z0 = %d¥n", kai );

for ¢ i = 0; i < nodelsou-11; i++ ) {
outerr{il /= (float)icount;
printf( "2 ¥(%d) = %f¥n", i+l, outerrl[i] ),
if ( puterr({il <= 0.01 ) inext++; [ NN DL2% 02933 395 %/
averr += nuterrl[il;
}
averr /= nodelsou-113;
if ¢ yn == YES ) fprintf( fe, "%d %f¥n", kai, averr );
if ( inext == nodelsou-~1] ) break;
kKai++;
if (larn > 0 && larn < kai ) break;
H

if ¢ yn == YES ) {fclose( fe );

printf{ "¥nh™23297vNIL2WI3TIIIANT? (yv/n) " ),

if ( hityn() == YES ) execute( sou, 1 );

wf_write( sou ); /% IILIAXRIFN=9)7PANAN 20030 %/
}
/e st sfe e e s s ke ok ok e e ok o o8 i sk sk o ok s sk o ok e ok s sfe e o ok ok 3K 3% sfe e e Rk Bk R ROROKR Rk 3% /
VA TN A Vi Ly %/

/% s sie sie v ok 3k 3k 37 o Sk k 3 5 K 5 k 3K K K K K 5K 3k 3¢ ok 5k 2§¢ 246 i€ 25 ok ok sf¢ o5 3§ ok ok feofok steoRoRe R oRoRk R K/
void execute( int sou, int mm )
{

int i, i

for ¢ 1 = 0; 1 < icount; i++ ) {
data_set( i, sou ) [k FU-9bvb %/
out_cal( sou, mm ); IERAVUEVIL RS NEE Y
printf{ "¥nza%YUzl " ),

for ( j = 1; j <= nodel0]; j++ ) (
printf( "%1.3£f", x[{0J[Ji] );
}
printf( "¥n>2Wzry " ),
for ¢ j = 1; j <= nodelsou~-11; j++ ) {
printf( " %1.3£f", x[sou-13103i]1 );
}
if (. mm == 1 ) {
printf( "¥n3™y% " );
for ( j = 0; j < nodelsou-11; j++ ) {
printf( "%1.3f", errl{jl »;
}
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}
printfC "¥n" });

}

printf( "¥n" )
}

/% ook st sl s sk o ok s s ok ok ok o o st ok oK fc ok sk s ke ok e sk sk ook sk sk sk ek sk e skesfe ok ok /
/% Fr=%)pvb */
/e skt i sle sk sk sk sk o 3k ok afe ok 3k ok sfe ok afe s ok ok 3 ok e sk ke sk ofe sk sfe dfe ok ke sk ke sk sde sk ke sk e sk ok /
void data_set( int patern, int sou )
{

int i, i, n

for (. n = 0 ; n < sou ; n++ ) |
for ( j = 0 ; j <= nodelnl] ; j++ ) {

x[nlljl = (float)»0.0; /% IS aNFLy3Fn %/
}

}

for ( 1 = 0; i < nodel0]; i++ )
x[010i+1] = indlnode[0Ol%patern+il;

for ( i = 0; i < nodelsou-1]; i++ )

d[i] = oudlnodelsou~ll*patern+il;

}

/oK ok sfe sk ok s i 3k ok e S e ofe o s ke sk s sk sk st sk ok o e s sk e 3k sk sk ofe ok ok e ok s sk kool ke kok ok /
/% NTw27° 0Ny -3a PRIt YR A s/
/3t akeste s sk sk sk sk sk sk ok sk sk sfe e o 3k ok ot abe ol ok ok sk st sk sfe ke ok ofe e e e s sk ok e ofe et ke e ek ke /
void bprun( int sou )

{

int n , i, js
/% ARINALYZINRYED=-D2IFK D45 ULL s/
/s F2ONLVDINRY m(md5) , V2w 205N avrt Ly n(n>20), */
/% ATDIZONF-L 2% k(k>HO) bPRLz=YT, %/
/% exIm-11[nl,eylm-13(n] %/
/% MASIDAN. */

/ot e st he e ok o ook ke ke sk b e oo e o s s ke o s e s ke se o e e s sk sesk ok s s sk Rl kol okok ok /
float ex[61[20], ey[6]1[20];

out_cal( sou, 1 ); VE IS VUEVILES VIR ¥4
n = sou - 2;
for (i = 1 ; i1 <= nodeln+1] ; i++ ) {
eylnllil = x{n+110i] - dli~-11;
ex[nllil = ey[nd[il % xIn+1J[i) % ( 1. - x[n+11[i) );
for ( j = 0 { j <= nodelnl} ; j++ ) {
ew[nl[ilrj) = exInlli] * xInll[j);

}
}
if ( sou > 2 ) {
for (n=sou -3 ;3 n > 0 ; n-~- ) {
for ( j = ; jJ <= nodeln+11 ; j++ ) (
ey[nl(jl = (float)0.0;
for ( i = 1 3 i <= nodeln+2] ; i++ ) {
eynl{j) += ( win+1J[i3[j] * ex[n+1][i] );
}
ex{nl(j) = eyInlfjl » xCn+1J0j] * ( 1. - xIn+130j1 );
}
}
for (n=sou~-3;n >0 3 n-—- ) {
for (1 =1 ; i <= nodeln+1] ; i++ ) {

for ( j = 0 3 j <= nodelnl] ; j++ ) {
ew[nlCil{j) = exInlli) * xI[nlL[il;

}
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/s e sk e sk sk sk sk st ok sk ok sfe sk e s e s o e ok e sk e B e s s ke sk ke sk sk st sk sfe sk sfesiole ookl koke sk ok /
/w29 ad 4y */
/% sk 34 3k sk obe 25 ok >k 3f¢ ok ok o afe 3k sfe sk ke 3¢ sfe 3¢ af¢ dle sk ¢ 3fe 3¢ ok ok e ok ke ok Sk ke ke vk k o 35 Sk e e dfk Sk e ke e e g */
void out_cal( int sou, int mm )

{
int n , i, Jjs
for ( n = 0; n < sou - 1; n++ )
x[nl[0] = 1.0; /x SFAFTNL %/
for ( n = 0; n < sou-1; n++ ) {
far ( i = 1; 1 <= nodeln+11; i++ ) {
for ( j = 03 j <= nodelnl; j++ >
xIn+130i) += winl[illjl * xInl(jl;
}
x[n+11[i] = (float)( 1. / (1. + exp( (double)(-x[n+1]JL[i]) ) > );
}
}
if ¢ mm == 1 ) {
for ( i = 1; i <= nodelsou-1]; i++ ) { /% TI9=7748, %/
err{i-1) = ( xfsou~13[i] - d[i-1] > * ( x[sou-13[i] - dli-1] ),

}
}
/s kool sk sk e sk ok 356 ok sk sk o ok 3ic 3k ok Sk Sk ok ok ok 3 sk dk¢ sk 3 s ke she i o e sk ok e s ade s sfe e afe ok sk sk sk s sk e sie sieofe stk ok e kol ok
/% FEIFT-HITVLIINAT ®/
/Ko sk ok s ok sk ofe ok 3k ok s ke ke e o s ok afe e oK e s 3k s afe e Sk sk sk e ok sk sk Sk sk ok e ok ok s sk ofeolk sk sk sfeok o e sk el kR o/
void add_ew( int sou, int patern )

{
int n, i, i
/* sk ok v i sk i ok s sfe sk sk je it Sk dk ¢ dj¢ S sk dfe ok ¢ sfe 3k ¢ 3§ e ¢ dle ke ¢ vk k¢ k¢ 3k ok 3¢ dk A Sk vk vk 3k Sfe o ¢ sk a3 i 3k ¢ Sk afk e sk ok 3K Sk o B KK K Sk */

/% AN NALVZINRY Y I=-D %KW 4> YLL. */
Jx Fa2ihL YUY hR m(m>5) . hIOVUS /2y R ADI 39T, n(n>20), */
/% NPT 2IN I~ K(Kk>50) bARZT. x/
/% ewlIm=11Inl MO, %/

/3 s sk skt sfe sk sk s i i sk o o oKkl o sk o 3 o e ofe ke sk s s fesfe sl s ok e e e ol o o ok sl sfe s ok R ke ok sk RoROR Sk skolok Sk okeok %/
float ewl(6310201020];

if ( patern == Q0 ) {
for ( n = 0; n < seu - 1; n++ ) {
for ( i = 1; 1 <= nodeln+l1]; i++ )
for ¢ j = 0; j <= nodelnl; j++ ) {
ewl[nl[illi] = (float)0.0;
}
}
}
}
for ( n = 0; n < sou - 1; n++ )
for ( i = 1; i <= nodeln+1]; i++ > |
for ( j = 0; j <= nodelnl; j++ > {
ewl[nlJ[illjl += ewlnl[il[jl;
}
)
}
if (patern == 3 ) {
for ( n = 0; n < sou - 1; n++ ) {
for ( i = 1; i <= nodeln+1]; i++ )
<

for C §j = 05 j
J

= nodelnl}; j++ )
ewlnl[il(il =

ewl(nlCil(jl;
}
}

}
)
/% ook sk R oK ok ok skl 3k ok ok ok ok koo ok sk skl skokokoRokoROk ROk ok /
/x FEZ/A9VL */
/e sk ok st ok e ek ok ak sk s she ok ke ok ok of sk ok o le 3K 3K 3k s slok ok sk foke sk skl ke /
void w_renew( int sou )
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for ( n = sou - 2; n >= 0; n-- ) {
for ( i = 1; i <= nodeln+1]; i++ ) {

for ( j = 0; j <= nodelnl; j++ ) {
dwinl[ilJ(j] = - eta % ew[nl[il[j]l] + alphar % dwlnl(il{jl;
winl[ilJ[il += dwInl[il(jl; :

}
/e ok st st s sl sl e s sk sk sk sfe ke ke ok S ek g 3 ok o st g e 6 sk ok af afe e o ok sk sfe Sk sk sk ok ste sk sk sk ke seskokoskokeok %k /
/% TURM NS */
/e sk ok s st sfesde ke fe sk st sfe sk ok 3K ok o ke ke 3K 3K 3k ofe o afe s s ok sk 25 e e S St s sfe e e o sk e dfe ke sk Sk sk ke skokok ke ke sk sk /
float ran( void )
{

static long ir =5L;

float ranran;

ir = 163L * ir + 656329L;

ir = ir % 12518383L;

ranran = (float)ir / 12518383.0;

return( ranran );
}
/o ok ok ok st e ke ke ok ot sfe e fe e ok ok sl abe ke e o ok s sk e ke ok ok sk ok e ok o ok ok ok e e 3k sk ok ke ofe e ok ok ok e e e st ke s oK R R e koksk ke /
/%  AEIFN-F)7PAUNIS29Y)a0 */
/i sk ok sk afe s ke ofe o ok ok o sk e ok ok sk s ok ke o ok o ok s ke e sk Sk age o 3 3 3 ok s sfe e 3 3 ok ok sfe e e ok sk ok st e e o sk e ek ok ok ok ok e K/
void wf_write( int sou )

FILE *wfo;
int i, }, n;

printf( "¥ndavIafAESTrAUACIZ 293l To8 04 HAD I
wfo = openfile( "wt", AGAIN )};
for ( n =0 ;3 n < sou-1 ; n++ ) {
fprintf( wfo, "#s*xiXd->%d***¥n", n+l, n+2 );
for (i = 1 3 i1 <= nodeln+11 ; i++ ) {
for ( j = 0 ; i <= nodelnl] ; j++ ) {
fprintf( wfo , "%f¥n" , winl(il(jl );
}
}
}
fclose( wfo )3
}
/s sk sk s ke o ok ok sk ok ok oK 3k o€ 36 3k e e 3 o o Sk sl ofe sk sl e ke e sk ke koK ok /
/% F=z27)30205% NIz */
/oot ok ok ofe ke sk sk ok sk e o sk ok ok sk ek kol sk sk ke ek sk sieokokesk sk ok ok /)
int chknum( int nu , int np )
{
int num;

while( 1 ) (
scanf( "%d" , &num );
if ( num >= nu & & num <= np ) break;
rewind( stdin )

}

return( num );
}
/s sie skoskosie sk v e ke ok s ok ok 3 e sfe ke o Sk o sfe ke sk ok ok ok e e ofe e o ok ekl ok ok ok /
/% y - n¥=Jy2} */
/ sk sk sk s sk ok ok sfe ok sfe sk e ok ok e e o ok 3k o s sk s sk o o e ke sk ke sk ke sk fok kR ok /
int hityn( void )
{

int ¢;

for( ; ; > {

—100—
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¢ = getchar();

if ( ¢ == 'y'ti ¢ == 'y' ) return( YES );

if (¢ == 'n'i!{ ¢ == 'n' ) return( NO );
}

/3 sk sbe s e die i s st sk ke ok s s ok >k e e sk ok ok o o ke ks s sk sk i ke s s ok ok sk ke sk s ol ok o s ek sk ok ok Rk Sk ko sk /
VA T /7% 1o KA Yia Ly REIA Lo D K= 1o WA %5 27 */
/3 skt sk sl e de ke ke e e ke e ke e e ke sk ok e ke kel ke e e ke ofe ool e sfe ke ke ke sk ook sk st sfe sl ook sk ook sk ok ok skeok s e /
int mode_sel( void )
{

int mode;

printf( "¥nl.7>2o22%" ),

printf( "¥n2.3%wam" );

printfC "¥n3.i29Y93%" );

printf( "¥n¥-F " (1-3)TF0L925729 %4 " ),

mode = chknumd( 1, 3 );

return( maode );
}
/3% stk siesiofe sk ol sk sfesfe o e s ok e o 38 e ok o o ke ok o ke sk o e ks e e ok ok sk stk sk kR Sk RoR sk ok ok %/
/x  FEIL2ITAKRDIELEY %/
/3% stk ok ok e ke ke sk s ok ok sk ke s ok s e ke e ke ok ok o ke ke o ok ok sk sk ke sk sk ok i kol ke R ke ke sk ok K/
int w_ren_mode( void )
{

int wmode;

printf( "¥nFEI /L 2004KY%kH"
printf( "¥nl.AvhviavbakoH"
printf( "¥n2.943 2 K"
printf( "¥nbt>F52232h? : ¢
wmode = chknum( 1, 2 );
return( wmode );

s e we we

R R

}
/o sk ok sk stesfe o s sfe i S she i ok sk ke ok ok 3k 3K S 5 3K of ¢ e ok ok 3¢ 35 3 ¢ o 3 ke sk o e ok sk kR R e R ok /
/xk TPARIA=-T7° */
/% sk ek i i st b sfesle ke sk sk st e sfe ke o ok ok 3k e ke fe sk o SR e ke ke 3k ok ok ok ok ek sk skosfok ek Rk ke /
FILE *openfile( char *mode, int sw )
{

char fn{251;

FILE xfp;

while( 1 ) {

scanf( "%s", fn )

if ( ( fp = fopen( fn , mode ) ) == NULL ) ¢

printf( "%s I FA=-7°F FIL2F V9. ¥n", fn );
if ( sw == EXIT ) exit( 1 );
printf( "EVMFITPAAAAIZ2D)BI23F708 4 ¢+ » )

} else {
break;

}
}

feturn( fp ),

£a4.1 Tk, F#8%FEX03 &L, FEHBEUL,
1389 [Al17 > 724550 AJ) (0.00 0.0) 124 L TH
ADY0.128 £ e~ 72, HIZ, (0.0, 1.O) (X LT,
0881 &%) LOITIEWHE > 72, T 720 (1.0,
0.0) X LTiE, 0943 {372, ZOF5HE, JE

FIZ1LO0WZEVETH L, (1.00 1.0) D ATIIZHE

LT, 0078 L W W AST/, THH D41
DT BRI O 2 e T A8 R &
ol

MESEM O PHE S ST L (ARG VA &

$72130.0) LEBEDOMDOED HhME £ Dk
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